Flug

Let F = 4zi — zj + zk. Compute / / F - dS, where S is the union of the
S

hemisphere z? + y? + 2% = 1, z > 0, and the base given by z? + y2 < 1, z = 0.
(Use the outward-pointing normal.)
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The position of a particle is given by r(t) = (2¢, 1 — 2t, 5 + t), starting when t = 0.
After the particle has gone a distance (}f \i fﬁm ;;,,w{,{}{ﬂ{ilﬁéif{f? is
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A potential for the vector field F(x,y) = (3a%y + 2ry, 2% + 2%) is
A P+ + C
B. Hy+2y+C
C. 2P+ +C
D. P+ +C

E. A potential for F cdoes not exist.
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